A FEI2OHE
M REI20HE

ni;

el TAINEE SAA (S d &)
= - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
FEH2OHE ot 1,391,367 80,422 1,310,945
FER2ONE 6,000 6,000 0
CAHEH SHA 6,000 6,000 0
SAIHEH 6,000 6,000 0
203 gR=4| 6,000 6,000 0
03 AIBFXYE =AY 6,000 6,000 0
OmE=2Hee R =AY 6,000,000 6,000
Y 2SI ZHI(FEF2HL D) 85,367 74,422 10,945
el 24| 23,537 22,502 1,035
=palsl 4,200 4,200 0
203 gR=8| 4,200 4,200 0
04 FA2IERFI| 4,200 4,200 0
OFRANEZ BRF4YI 350,000 «12& 4,200
kal:) 19,337 18,302 1,035
101 el24H| 19,337 18,302 1,035
03 RIHAZIZNE S 19,337 18,302 1,035
OFEI2HLAIEE 54 12| 19,337
—Jl== 934,990 » 18128 11,220
—d0= 11,219,880 x 12 %4/12 3,740
— Qi x==g 32,7203 x1Hx15& 491
—HelsSA=E 60,0002 x1& 12 720
—o2SRS 30,0003 x1H«12& 360
—Z=22g 6, 1303 x 1+ 15A| 2t 12 1,104
— AL EH 17,634,040 %26.65/1,000 470
—LAIRALEE 469,940 +65.5/1,000 31
—=0g=z 17,634,04021+45/1,000 794
—UEZE 17,634,04024%13/1,000 230
—&HEE 17,634,04024+10/1,000 177
Jl2&Hl 61,830 51,920 9,910
2et=gl 31,030 27,440 3,590
201 &er=gll 31,030 27,440 3,590
01 AtR2teiH| 31,030 27,440 3,590
OFA23JI23H 24,000
— 2+ 50,0002 x20& » 122 12,000
— = 50,0002 x20& » 12 12,000
OSAD| &8Xt& 120,000 =20 * 12 2,880
OZd = KA 200,000 = 104=12& 2,400
OuaeERs 1,750&1,000& 1,750
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A SEF2HZ
A HY2HAH|(FEISIHL D)
Chel: J1=23Hl (el &)
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
o4l 28,800 24,480 4,320
202 0ddl 28,800 24,480 4,320
01 2L 28,800 24,480 4,320
HEFAII=204] 120,000 x20H x12& 28,800
XHabE SHI 2,000 0 2,000
405 KHobE=HI 2,000 0 2,000
01 ML ESESH = 2,000 0 2,000
ouloia ¢ 2,000,000 = 1CH 2,000
MHPES(FEF2IHL D 1,300,000 0 1,300,000
LHEHHKI = 1,300,000 0 1,300,000
JIEtH 883 1,300,000 0 1,300,000
701 JIEISIHNES 1,300,000 0 1,300,000
01 JIEtal HEES 1,300,000 0 1,300,000
OZAMEHIEE2/H &&= 1,300,000,000& 1,300,000
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